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White’s next move in the game allowed perpet-  Black has just landed a blow on the kingside.
ual check. Show how he could have avoided  Your task is to find an accurate defence for
that and won. White.
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White has a very promising position, but there’s ~ White’s king is still in the centre. Can Black
only one way to win right away. take advantage of this?
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White would clearly like to remove the black  How can Black secure a big advantage?
knight from b4. But think carefully about how
to do so.
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It looks like Black must lose an exchange. But  How can White strengthen his position?
maybe it’s not so bad?
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How should White press home his advantage?  Find the best move and carefully calculate the
variations that follow.
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It seems necessary to retreat the knight frome5.  Black is trying to create counterplay. How
But to where? should White react?
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199) Zhang Xiao - Nie Xinyang
Tianjin 2018/19

White must first secure his king, and only then

think about pushing his a6-pawn.

35 2b4!

After 35 £.c67 Dxf4 36 £xa8 &xh3+ the
game ends with perpetual check: 37 &f1 Wd3+
38 el Wo3+ = or 37 hl Def2+ 38 Exf2
Oxf2+ (the game was drawn here) 39 &gl
&h3+=(or 39...h3 40 Wc8+ Lh7 41 Wf5+ =),

35..%xf4 36 £el Hxh3+

36.. We5 37 We3 +-—.

37 &f1

Black’s attack is over, and next move White
will take the knight. Not 37 &h1? Qef2+ —+.

37...%h2 38 gxh3 Wxh3+

38.. Whi+ 39 &e2 +-.

39 &gl +-

200) Lu Miaoyi - Li Haoyu (variation)
Tianjin 2018/19
45 Le2!

45 237 HFS is unclear, while after 45
Wf3+71 g7 46 We3+ &f7 White has a large
advantage, but Black retains chances to hold
the position.

45...Wxd5+

Or 45..5xd5 46 ££3 &\b4 47 £xb7 &Hxd3
48 £.xa6 +—. After 45.. 5 46 Wxa6 Wxd5+
47 213 Wa?2 48 h4 +— Black’s threats are over,
as he gains nothing from 48..e3+ 49 &gl
Wal+ 50 &h2.

46 WxdS Hxd5 47 £xab6

Material is equal, but White has a decisive
advantage because of his passed a-pawn. For
example: 47...2)¢7 48 £b7 Ze7 49 a6 b5 50
£.¢6 Da7 51 £2d5 +—.

201) Lyrberg — Murzin

Stockholm 2018/19

24 Wxb4! (24 Hxb4? is wrong because before
recapturing, Black can drive the white queen
away by 24.. Ha8! 25 Wb2 Wxb4 T) 24...Wxhd
25 §xb4 cxb4 26 ¢5 (as played in the game)
gives Black a hopeless position because the
g7-bishop is out of the game. For example:
26...dxc5 27 £xc5 Za8 28 2xb4 +—.

202) Pranav - A.Liang
Stockholm 2018/19

The first step is to reduce Black’s attacking po-
tential, and the knight is the obvious target.

34 Exed!

34 hxg3? loses to 34...Wxg3+ 35 &f1 d3! 36
Wo2 d2 (as played in the game) 37 Ed1 We3 —+
and White has no good defence against the
knight check on g3.

34...dxe4 (D)
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35 hxg3

Now the position is close to a draw. For ex-
ample: 35...%xg3+ (35...d3 36 Wf2 d2 37 /c3
=) 36 21 (36 Wg2 We5 37 b4! = also secures a
draw) 36...%f3+ (36...d3 37 Wf2 =; 36...e3 37
&\c5 =) 37 Wr2 Whi+ 38 Le2 Whs+ 39 &f1 =
and the game will end with perpetual check.

\

\\

////////

vy
o
=7

\

203) Ruiz Castillo — Taghizadeh
Burlingame 2019
After 20...Exa4! 21 Zxad4 We2 (as played in the
game) Black will win one of White’s rooks, and
the game: 22 Eb4 (22 0-0 Wxa4 —+) 22...%b1+
23 &f2 Wxhl —+.
204) PAlmagro - Kravtsiv
Madrid 2012
25...Ed7! (next move Black will attack the
d6-knight, which has nowhere to go) 26 £f3
BbdS8 27 e5 £xf3 28 ©xf3 (the game ended
28 De8+? Hxe8 29 HExd7 £.c6 0-1) 28...fxe5
29 He8+ &f8 F with an extra pawn and good
chances to win.
205) Javakhadze — Eswaran
Burlingame 2019
Black can clearly get the white e5-pawn for the
exchange, but must also hold on to the c5-
pawn.
23...Eac8!
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After 23..9xe57 24 £.xc5! Hac8 (24...218!?)
25 £xa7 +— (as played in the game) White’s
b-pawn is too strong.

24 2b7

Or 24 {417 £f8 25 2b7 £xd6 26 £xc8
£ xe5!, with unclear play.

24...xe5 25 £xc8

25 £xe5 8.xe5 26 £xc8 Exc8 =.

25...Exd6

with a playable game, and near-equality.

206) Training position
Rather than taking the black queen, the priority
is to neutralize the dangerous pawn on c2.

1 Wp3+!

After 1 Wc4+? ©d6! (1..2d7? 2 Wxc2 +-)
2 Wxd4+ &c7 Black achieves a draw thanks to
his strong passed pawn: 3 Wc3 Wxc5! 4 Wxc5+
Ec6=.

1...&d6 2 Exc2 +-
207) Rayset — J.Trevelyan

Hastings 2018/19
37...5g6!

The more natural 37...4)d7? is a mistake due
to 38 e5 Le7 (38...£.d8 39 Dxf7 +-) 39 &5
+—, as played in the game.

38 e5

38 £xf6 gxf6 is unclear.

38...2¢e7

Other squares for the bishop are less fortu-
nate: 38...2d8? 39 5 &f4 40 Dca! WeT 41
Wod4 +—or 38...£h4?! 39 £5 &3f4 40 a3! with an
attack; e.g., 40.. 92 (40..5d5 41 f6 +) 41
Nxf1.

39 5 o)

39...20f872! 40 {c8 W7 41 DxeT+ + gives
White a large advantage.

40 Hc8

40 & ca?! W2 F,

40...%¢7

with an unclear position. Next the knight
will go to dS.
208) A.Barton - M.Chapman

Hastings 2018/19

46 Hh2!

On g4 the knight will create serious problems
for Black. 46 £g3? (as played in the game)
should have been answered with 46..f6!,

denying the white queen the g5-square, and so
leaving the knight uselessly placed on g3.
46...£6 47 HHgd f7
47...g57! 48 Wel! 2b3 49 Whi +-.
48 a6!
with a large advantage. While Black is deal-
ing with the a-pawn, White will bring his queen
into the attack on the other flank. For example:
48...2e6 (48...g57! 49 a7 £b3 50 Wb2 +-) 49
g3 5 50 Wh6 Wxa6 51 Wxg6 +.
209) C.Murphy - Leenhouts
Hastings 2018/19
16 £.¢3!
Only this move is good enough; otherwise
White loses. 16 ¢3?bxc3 17 £xc3 Wxdl+ —+.
16..%xd1+ 17 Wxd1 Hxd1 18 fxg7
18 £e57 D2 —+.
18...8xg7
18...2g87 19 gxf8W+ &xf8 20 £d4 +-.
19 £xg7 9f2!
19...2g8720 £.d4! (20 £e5? &Hf2) 20...£b7
21 Egl +-.
20 £xh8 Hxhl 21 Le5
White has a slight advantage thanks to the
bad knight on hl.
210) Kalavannan - A.Taylor
Hastings 2018/19
34 15!
In the game 34 £f2? hxg3+ 35 hxg3 Wh5 F
gave Black a dangerous attack.
34.. x5 35 Wrg
An exchange of queens will kill Black’s at-
tack, leaving the a5-pawn as a decisive advan-
tage.
35..2f6 36 Wxfs Exf5 37 Hf4 Hxf4 38
2xf4 +—
211) Zelesco - Kravtsiv (variation)
Al Ain 1t 2012
20...f4!
Not 20...Dxd4?21 £xd4 £xd4 22 Dge2 £.
21 &xf4 Ef8 22 Hce2 g5
Black wins the bishop and the game. 23 d5
doesn’t help in view of 23...0xf4 24 dxc6
Axh3+ 25 gxh3 Wxd1+ —+.
212) Kravtsiv — Abergel (variation)
Cappelle-la-Grande 2013



